	Electron Configuration Notes
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	Briefly explain the steps you use to complete the electron configuration for silicon? (Answer this question in a complete sentence using information from your notes.)



What is electron configuration?





How are the electrons organized in levels? 
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The s sublevel  can hold up to ______ electrons.





The p sublevel  can hold up to ______ electrons.





The d sublevel  can hold up to ______ electrons.





The f sublevel  can hold up to ______ electrons.








The orbital rule tells you how many electrons fit in each sublevel.





The 3 General Rules that we follow:
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Aufbau Principle (“Lazy Tenant Rule”):


Electrons _________ the lowest energy orbitals first and you must fill them up in order.


Example:  ______________________________________________________________________________


Pauli Exclusion Principle:


Each orbital can hold _______ electrons with __________ spins.


We show the spinning electrons with arrows:








Hund’s Rule (Empty Bus Seat Rule):


You must place 1 electron in EACH orbital of that sublevel _________ you can place a second electron in any orbital of that sublevel.








This is how the sublevels are arranged on your periodic table:





Steps for finding the electron configuration of an element?





Locate the _____________ on the periodic table.


Find the ___________________ (energy level).


Find which sublevel ___________ it is in (s, p, d, or f)


Count how many _________ are in that block until you get to the desired element.


Fill in everything that comes before that element beginning with _______.





Hydrogen example:


(Label what each part stands for.)





Orbital Notation and Electron Configuration:





1s1





Practice for orbital notation (arrows) and electron configuration.








Oxygen example using orbital notation (arrows): 


Oxygen (O)  e- = ______	______	______	______ ______ ______








Electron configuration:  ____________________________








Boron (B)  e- = _______     		 ______	______	______ ______ ______








Oxygen (O) e- = ______		______	______	______ ______ _____








Learning Check:





Complete the electron configuration for the following:








Nitrogen�
�
Sulfur�
�
Cobalt�
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Bromine�
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